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�,3�7��*XQD�0HQLQJNDWNDQ�3HOD\DQDQ�GL�.DQWRU�3HOD\DQDQ�.DEXSDWHQ�$JDP

/DWDU� EHODNDQJ� SHQHOLWLDQ� LQL� DGDODK� NDUHQD� PDVLK� NXUDQJ� HIHNWLIQ\D� SHODNVDQDDQ�
SURJUDP�,QYHQWDULVDVL� �3HQJXDVDDQ��3HPLOLNDQ��3HQJJXQDDQ�GDQ�3HPDQIDDWDQ�7DQDK��,3�7��
\DQJ�GLODNXNDQ�ROHK�.DQWRU�3HUWDQDKDQ�.DEXSDWHQ�$JDP��+DO�LQL�GLEXNWLNDQ�GHQJDQ�NDMLDQ�
HIHNWLYLWDV� SURJUDP� ,3�7� \DQJ� EHOXP� WHUVRVLDOLVDVLNDQ� GHQJDQ� EDLN� NHSDGD� PDV\DUDNDW��
7XMXDQ�GDUL�SHQHOLWLDQ�LQL�DGDODK����XQWXN�PHQGHVNULSVLNDQ�HIHNWLYLWDV�SHODNVDQDDQ�SURJUDP�
,3�7� JXQD� PHQLQJNDWNDQ� SHOD\DQDQ� GL� .DQWRU� 3HUWDQDKDQ� .DEXSDWHQ� $JDP�� ��� XQWXN�
PHQGHVNULSVLNDQ� NHQGDOD� GDODP� PHQJHIHNWLINDQ� SHODNVDQDDQ� SURJUDP� ,3�7� JXQD�
PHQLQJNDWNDQ� SHOD\DQDQ� GL� .DQWRU� 3HUWDQDKDQ� .DEXSDWHQ� $JDP�� GDQ� ��� XQWXN�
PHQGHVNULSVLNDQ� XSD\D� \DQJ� GLODNXNDQ� GDODP� PHQJHIHNWLINDQ� SHODNVDQDDQ� SURJUDP� ,3�7�
JXQD�PHQLQJNDWNDQ�SHOD\DQDQ�GL�.DQWRU�3HUWDQDKDQ�.DEXSDWHQ�$JDP�

-HQLV�SHQHOLWLDQ�LQL�DGDODK�NXDOLWDWLI�GHQJDQ�PHQJJXQDNDQ�PHWRGH�GHVNULSWLI��,QIRUPDQ�
GLWHQWXNDQ� GHQJDQ� WHNQLN� SXUSRVLYH�� 'DWD� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL�� \DLWX� GDWD�
SULPHU�GDQ�GDWD�VHNXQGHU��3HQJXPSXODQ�GDWD�GLODNXNDQ�GHQJDQ�FDUD�REVHUYDVL��ZDZDQFDUD��
GDQ�GRNXPHQWDVL�GHQJDQ�XML�NHDEVDKDQ�PHQJJXQDNDQ�WULDQJXODVL�VXPEHU��6HGDQJNDQ�WHNQLN�
DQDOLVLV� GDWD� GLODNXNDQ� GHQJDQ� FDUD� LQYHQWDULVDVL� GDWD�� NODULILNDVL� DWDX� DQDOLVLV� GDWD��
SHPEDKDVDQ�GDQ�SHQ\LPSXODQ�KDVLO�NODVLILNDVL�DWDX�DQDOLVL�GDWD��GDQ�WDKDS�SHODSRUDQ�

+DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� HIHNWLYLWDV� SHODNVDQDDQ� SURJUDP� ,3�7 JXQD�
PHQLQJNDWNDQ� SHOD\DQDQ� GL� .DQWRU� 3HUWDQDKDQ� .DEXSDWHQ� $JDP� EHOXP� HIHNWLI�� +DO� LQL�
GLNDUHQDNDQ�PDVLK� WHUGDSDW� LQGLNDWRU� HIHNWLYLWDV� \DQJ� EHOXP� WHUSHQXKL� GDODP� SHODNVDQDDQ�
SURJUDP�,3�7��\DLWX�NHMHODVDQ�WXMXDQ�\DQJ�KHQGDN�GLFDSDL�PDVLK�EHOXP�WHUFDSDL�GHQJDQ�EDLN�
GDQ�NHPDPSXDQ�XQWXN�PHUXPXVNDQ�SHUHQFDQDDQ�\DQJ�PDWDQJ�PDVLK�EHOXP�HIHNWLI��$GDSXQ�
NHQGDOD�GDODP�PHQJHIHNWLINDQ�SHODNVDQDDQ�SURJUDP�,3�7�JXQD�PHQLQJNDWNDQ�SHOD\DQDQ�
ROHK�.DQWRU�3HUWDQDKDQ�.DEXSDWHQ��\DLWX�NXUDQJ�HIHNWLIQ\D�NRPXQLNDVL�\DQJ�WHUMDOLQ�
DQWDUD� SDQLWLD� ,3�7� GHQJDQ� SHWXJDV� QDJDUL�� 6HODLQ� LWX�� PDVLK� NXUDQJQ\D� SURJUDP�
SHQJHPEDQJDQ� 6'0� \DQJ� GLODNXNDQ� ROHK� .DQWRU� 3HUWDQDKDQ� .DEXSDWHQ� $JDP��
6HGDQJNDQ�8SD\D�\DQJ�GLODNXNDQ�GDODP�PHQJHIHNWLINDQ�SHODNVDQDDQ�SURJUDP�,3�7�
JXQD�PHQLQJNDWNDQ�SHOD\DQDQ�ROHK�.DQWRU�3HUWDQDKDQ�.DEXSDWHQ��\DLWX��D��PHQMDOLQ�
NRPXQLNDVL�DQWDUD�SLKDN�.DQWRU�3HUWDQDKDQ�.DEXSDWHQ�$JDP�GHQJDQ�SLKDN�1DJDUL��
�E�� PHQLQJNDWNDQ� NRRUGLQDVL� GDQ� NHUMDVDPD� DQWDUD� SDQLWLD� ,3�7� GHQJDQ� SHWXJDV�
QDJDUL��GDQ��F��PHPEHULNDQ�SHPDKDPDQ�GDQ�SHQJDUDKDQ�NHSDGD�SHWXJDV�QDJDUL�ROHK�
SLKDN�.DQWRU�3HUWDQDKDQ�.DEXSDWHQ�$JDP�VHEHOXP�GLODNVDQDNDQQ\D�SURJUDP�,3�7�
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